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[ Bl (4+3+4)X2=22 > T Bl5 6X6-2X5=26
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N

i Do

383204870 8p(afr) 52 ( )
(A)7 % 28 p (L #T) B)7 % 27 p(2fe)
(C)6 " 19 p(h#-) (D)6 * 18 P (L)

<fE47>

20-8=12

30-12=18

E Do

Artedl g 2 E
Singapore Final (Grade 2)

4. A group of patterns, arranged (#E 7
how many times did © appear(:} 31).
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B Hcix3=9813 % B

6. 1 X243 X4-5X6+7X8 th% % ¢
(A) 1 X2X6X3X8+4-5-7
(C) (1 X243 X4+7X8)-5%6
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1 X243 X4-5X 6+7 X 8=(1 X 243 X 4+7 X 8)- 5X 6
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6+7+8+9+10+11=17+17+17=51
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) shown in Figure 1, to the 29th pattern( B %),
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F 8=375+109+21+33+43+94-95-89-64-97=330

2.369-(33+22+11+66+36)= o
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B 34=369-(66+66+36)=369-168=201
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8+2=10

10+(3-1)=5

5+8=13
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62+4=15.....2
15+2=17

7. John grows a small plant ({£ 4~ ) which grows (£ % ) 8 mm every day(* = ). Today
its height (& &) is 72 cm, days ago, its height was 56 cm.
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4 X7=28
28+4X3=21
21+7=2=3
104 X3=312
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54+78+36=168
168-+2=84
T3 5. 4 =84-54=30
2 7 $E=84-78=6
B 4 #=84-36=48
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1000=100X10
500 > pF oy mk A 1=
3X10+3X1=33
07:15+0:33=07:48

Arbedl g 2 E s
Singapore Final (Grade 2)



